
5 10 15 20 25 30 35 40 45

0 1000 2000 3000 4000 5000

0

Air end data

power consumption at

driving shaft recommended [kW] 75

volume flow max [m3/min] 15.8

discharge pressure max. [bar a] 16

male rotor speed max. [rpm] 3,600

lobe combination 5/6

Oil-injected screw compressor stage

EU 75 Series

Reference for further information

Contact

Performance data

Performance statements according to ISO 1217

Oil-injected screw compressor stage

EU 75 Series

0

20.0

19.0

18.0

17.0

16.0

15.0

14.0

13.0

12.0

11.0

10.0

9.0

8.0

7.0

6.0

5.0

4.0

3.0

2.0

1.0

0.0

male rotor tip speed [m/s]

male rotor speed [rpm]

13 bar a / 189 psi a
6 bar a / 87 psi a

su
ct

io
n

 v
o

lu
m

e 
fl

o
w

 [
 m

3 /m
in

]

su
ct

io
n

 v
o

lu
m

e 
fl

o
w

 [
cf

m
]700

650

600

550

500

450

400

350

300

250

200

150

100

50

0

0 5 10 15 20 25 30 35 40

1000 2000 3000 4000 5000

160

150

140

130

120

110

100

90

80

70

60

50

40

30

20

10

0

male rotor tip speed [m/s]

male rotor speed [rpm]

p
o

w
er

 c
o

n
su

m
p

ti
o

n
 [

kW
]

p
o

w
er

 c
o

n
su

m
p

ti
o

n
 [

h
p

]

210

200

190

180

170

160

150

140

130

120

110

100

90

80

70

60

50

40

30

20

10

0

13 bar a / 189 psi a
12 bar a / 174 psi a
11 bar a / 160 psi a
10 bar a / 145 psi a

9 bar a / 131 psi a
8 bar a / 116 psi a
7 bar a / 102 psi a
6 bar a / 87 psi a

45

EU COMP GmbH

Großmattstraße 14

79618 Rheinfelden / Germany

Phone +49 (0)7623 –717 41 80

www.eu-comp.com

info@eu-comp.com



5 10 15 20 25 30 35 40 45

0 1000 2000 3000 4000 5000

0

Air end data

power consumption at

driving shaft recommended [kW] 75

volume flow max [m3/min] 15.8

discharge pressure max. [bar a] 16

male rotor speed max. [rpm] 3,600

lobe combination 5/6

Oil-injected screw compressor stage

EU 75 Series

Reference for further information

Contact

Performance data

Performance statements according to ISO 1217

Oil-injected screw compressor stage

EU 75 Series

0

20.0

19.0

18.0

17.0

16.0

15.0

14.0

13.0

12.0

11.0

10.0

9.0

8.0

7.0

6.0

5.0

4.0

3.0

2.0

1.0

0.0

male rotor tip speed [m/s]

male rotor speed [rpm]

13 bar a / 189 psi a
6 bar a / 87 psi a

su
ct

io
n

 v
o

lu
m

e 
fl

o
w

 [
 m

3 /m
in

]

su
ct

io
n

 v
o

lu
m

e 
fl

o
w

 [
cf

m
]700

650

600

550

500

450

400

350

300

250

200

150

100

50

0

0 5 10 15 20 25 30 35 40

1000 2000 3000 4000 5000

160

150

140

130

120

110

100

90

80

70

60

50

40

30

20

10

0

male rotor tip speed [m/s]

male rotor speed [rpm]

p
o

w
er

 c
o

n
su

m
p

ti
o

n
 [

kW
]

p
o

w
er

 c
o

n
su

m
p

ti
o

n
 [

h
p

]

210

200

190

180

170

160

150

140

130

120

110

100

90

80

70

60

50

40

30

20

10

0

13 bar a / 189 psi a
12 bar a / 174 psi a
11 bar a / 160 psi a
10 bar a / 145 psi a

9 bar a / 131 psi a
8 bar a / 116 psi a
7 bar a / 102 psi a
6 bar a / 87 psi a

45

EU COMP GmbH

Großmattstraße 14

79618 Rheinfelden / Germany

Phone +49 (0)7623 –717 41 80

www.eu-comp.com

info@eu-comp.com



Installation drawing [mm]

weight [kg] 283.5

Oil-injected screw compressor stage

EU 75 GH

Installation drawing [mm]

weight [kg] 206

Oil-injected screw compressor stage

EU 75

Installation drawing [mm]

weight [kg] 283.5

Oil-injected screw compressor stage

EU 75 GV

Ø 150
8-M16x2 24
ON P.C.D. 210

Ø
 2

96

65
65

286 38.9 38.9 4-M16x2 24

Ø
 9

9

6-M12x1.75 18
Stirn Flansch
Front flange

Ø 268

Schwerpunkt
Center of gravity

M33x2
Oeleintritt
Oil inlet

392

18
0

Ø
 5

5

67

712.2

30
0

M10x1
Drainage vom Abscheider
Drain from separator

4-M16x2 24

8-M16x2 24
ON P.C.D. 210

Ø
 3

80

M33x2
Oeleintritt
Oil inlet

M10x1
Drainage vom Abscheider
Drain from separator

65
65

286 38.9 38.94-M20x2.5 30

Ø
 9

9

Ø 350

6-M12x1.75 18
Stirn Flansch
Front flange

Schwerpunkt
Center of gravity

898.2

30
0

Ø
 5

5

67

18
0

488

Ø 150

898.2

8-M16x2 24
ON P.C.D. 210

46
9.

9

M33x2
Oeleintritt
Oil inlet

M10x1
Drainage vom Abscheider
Drain from separator

286 38.9 38.9

65
65

Ø
 99

8-M16x2 244-M20x2.5 30

6-M12x1.75 18
Stirn Flansch
Front flange

Ø 350

Schwerpunkt
Center of gravity

67

30
0Ø

 5
5

18
0

413

Ø 150




